AV S

Uzivatelska prirucka

F\’Y-fo NV 4
RC OFFROAD 4WD BIG SHARK 2,4 Ghz ID: 23142092 /

il

'\

Terénni auto se silnym motorem je vyrobeno pro jizdu venku, nejde vsak

o rychlé zavodni auto, ale o sildka zdolavajiciho kazdy terén. Diky silnym

>

motorlim s ndhonem na vSechny ctyfi kola projede témér vsim.

Vysoky odpruzeny podvozek spole¢né s pevnym plastem zajist'uji

dlouhou Zivotnost auta i v drsném terénu. S pistolovym dalkovym
ovladanim fungujicim na 2.4 GHz si mdzete byt jisti, Ze Vas Rock Crawler
pojede tam, kam chcete, a to i na velké vzdalenosti bez ruseni signalu.

y A




MU o4

Hlavni rysy:

epohon vsech kol 1:18 méritko RC lezecké auto se prizplsobuje
tézkym silni¢nim podminkam dobre

¢35 km / h maximalni rychlost i pfi strmych vykyvech generovanych ’/
silnymi kartacovanymi motory

’oVynikajici tlumice narazi odolné proti silnému narazu, slouzi jako
ucinna narazova ochrana proti vibracim
eVysokokvalitni pneumatika z PVC s hlubokymi stupni vytvari ’

vysoky Uchop pro skalnaté, travnaté, pisecné cesty atd.

Realistické detaily v podobé, funkéni klece, prvkl karoserie,

&

propracovaného interiéru s figurkami fidi¢e a spolujezdce, to vSe dodava

modelu autenticky vzhled.

.-

Doba pouziti: 12 az 20 minut

Dosah ovladani 60 metri

Obsah baleni

ND Desert- rub
W vadi&




NO.HB-ZG1803A

Connection mode between USB and the charger. ( Note: please correspond to the the following
figure according to the charging method of the product configuration. )

When USB is charging, the red light is always on,
and the green light flashes slowly.Red light and
green light will be always on together after being
fully charged.

When the charger is charging, the red light is
always on, then the red light turns green when the
charging is finished.

=

NOTE: Charging time for LI-ion Battery 7.4 V, 1500mAH is around 4 hours.
NOTE: We strongly recommend that you should remove the batteries from your car if the car is not in use.

w V'
3
rcvelkos

)40 Ad

A\



le rc-model 0
eni baterii
baterie #"4 hodiny. Priy ba :
[evieté zadni kryt p aterii'p
Zi€ baterie a d ravnou pola

Seznameni s dalkovym oviadanim

Z - K4\ 0d /%

Your car is equipped with the new 2.4GHz radio system. Please read and understand all
instructions below before operating.

1) Power ON/OFF

2) Throttle Trim

3) Steering Trim

4) Steering Wheel

5) Steering Reverse Switch
6) Trigger

grepnuti na re
4
rcvelkos;




‘ ' v v “;‘ \ A 4
pohyb vpre ébridém’
prava, otog cka smére
*oleéka sa

2

isknutim spou

&
2 o)

4

Battery Precautions:
1) Do not mix new and old batteries.

2) Use batteries of same brand.
3) Always remove batteries when not in use.
4) Do not insert batteries with incorrect polarity in.

5

velkos;




Install the batteries to your car firstly.(see the chapter: CHARGING THE BATTERIES FOR CAR)
NOTE: ALWAYS REMOVE THE BATTERIES FROM THE CAR WHEN NOT IN USE.

o TURN ON THE RADIO CONTROLLER 9 TURN ON THE RECEIVER ON YOUR CAR

Power Switch

[ ‘

NOTE: To run your car, switch on the radio controller, and then the receiver. To stop your car,
switch off the receiver first, and then the radio controller. (Your car is automatically bound with
the radio controller when both are switched on)

casti rc-m



&7 MU o4

CHECK STEERING PERFORMANCE
*Ensure good steering performance.
CENTRE TURN LEFT TURN RIGHT

y

1) To keep the car run straight in 2) Tumn it left to allow your 3) Tum it right to allow your V
line. Do not move the control vehicle turn to left. vehicle turn to right.
wheel. (keep it at center)

;1
b/
érem

M
e}

\ 4
te funkcno vého ovlad to

! doleva \‘o




¢Av« Aei "' /
P2Y) CHECK TRIGGER RESPONSE |
5 l A B *C

A Pull the trigger back to accelerate, release it to decelerate and

' Y, RS LPUSHIT | bush it to brake.
e CENTRE B.To stop running your car, release the trigger to Neutral.

BACK C.Pushing the trigger a second time activates the reverse feature

(5)) TO TUNE THE STEERING TRIM

ST.TRIM

N

TH. TRIM



& A‘ i/
e TO REVERSE THE STEERING MODE
Steering Reverse: It allows you to electronically switch the direction of steering servo travel. a

REV NOR

=1

r|| Vv pfip
e model *
u

0 eI a baterie o




odél'nepol v blizkosti v
)y nedoslo k@€ho utopeni ad a
istéta se, 76 0 jiny ve Vasi epouzi
frek jakefma rc-model) nd@oslo ke ztraté

Ani prekazky.

I Rozeni
: r&aterie a rc-mg

nipulaci.




ového ov%‘zte 2 AA baterj
ikd el

nepouziyej

v blizk@®i lidi, nebo m




.v ‘ \'a 4 A4
POUZIvanim




/,

Seznam

)/

Fislusenstvi

ZGT18001

*o

Chassis

ZGT18002

g

Differential speed gear
cover

3,
&

Steering head

ZGT18004

Car shell support

ZGT18005

‘=
T

Guide plate, motor and
battery accessories

ZGT18006

Circuit board box

ZGT18007

Steering rod, battery bin
pillar

ZGT18008

Differential speed gear

ZGT18009

Transmission shaft
(4*153mm)

ZGT18010

5 wire Servo ( 17g)

ZGT18011

O

Servo accessories

ZGT18012

<

Shock absorber clasp of
the Servo

\cover- kryt di
fizeni




ball bearing 12*8*3.5mm
(7pcs)

ZGT18014

ball bearing 15*10*4mm
(4pcs)

ries- nosny

a &
pillar- tyc¢ FA
AW

2GT18015

Ball stud (6pcs)

g

2
2

ZGT18016

Motor base

ZGT18017

RC 390 Motor

ZGT18018

Motor cooling fin

szed gear- 0z avodyl i

jon shaft-4yd tocivého
ny

€ervo- S

fislusenstvi

ZGT18019

PCB receiver

2GT18020




ZGT18021

ZGT18022

ZGT18023

ZGT18024

e e
o o

€ | & 6
--..ngfﬂ}jﬁfnfff////
| ((;Iazl;niglfl' locking seed Shell clasp (12pcs) ‘ ﬁ\ée:}icg)Screw 2.5%16mm ﬁi;g‘tcg‘)Screw 2.5*33mm
ZGT18025 ZGT18026 Z2GT18027 ZGT18028

Rivet & Screw 2.5*21mm
(12pcs)

R
A
A

Countersunk head self-
tapping screw 3*14mm
(12pcs)

Countersunk head self-
tapping screw 2.6*10mm
(12pcs)

L d
e

Countersunk head self-
tapping screw 2.6*7mm
(12pcs)

ZGT18029

L 4
v

e

L 4
g
reeve

Self-tapping screw with
dielectric 2.6*7*6mm
(12pcs)

ZGT18030

- b b= b
- b b b
s b -

pan head screw 3*6mm
(12pes)

ZGT18031

= - s -
- b
- b e

pan head screw 2.6*6mm
(12pcs)

ZGT18032

- - > e

Countersunk head self-
tapping screw 2.3*7mm
(12pcs)

REC 3904moto

ooling

or base- zaklad \

ar- prijimac

7 4
absor h/ clasp of the
1B grkulickové loz

mern

- chladi¢

AM




ZGT18033

Self-tapping screw with
dielectric 2.6*10*6mm
(12pcs)

ZGT18034

Step screw 2.8*10mm
(12pcs)

ZGT18035

7.4V, 1500mAH Battery
(Li-ion)

ZGT18036

1.5V"AA" Battery
(4pcs)

ZGT18037

Oniy used for 7.4V 1500
mAH battery-USB charging
line

ZGT18038

Only used for 7.4V 1500
mAH battery - Ordinary
electronic charger

ZGT18039

Only used for 7.4V 1500
mAH battery -CE/UL/GS/
BS/SAACertified charger

ZGT18040

Remote Control

certified




ZGA18001 ZGA18002 ZGA18003 ZGA18004

HB-ZG1801 Car Shell HB-ZG1801 Car Frame HB-ZG 1802 Car Shell HB-ZG1801 Car Frame
{brown) (brown) (blue) (black)

ZGA18008

ZGA18005 ZGA18006

ZGA18007

; Front wheel suspension arm
HB-2G1802 Wheel kit (The top left front, bottom left

front, top right front, bottom
right front are all different )

HB-ZG1801 Wheel kit
Tires (2pcs) components (silver grey) components (silver)
(two wheels) (two wheels)

ZGA18009 ZGA18010 ZGA18011 ZGA18012

@1#

Shock absorber Front bracket of car shell + | Front protective frame +

f suspension (4pcs back bracket of car shell + | roof light + rear protective
Egﬁi(b?(?krggt;?g;éeeggﬁn i o anti-collision O - bracket frame

9 \/
| br roserie hn“d%“
c - ram hnéca
1 'eré
ny

Back wheel suspension arm
(The top left back, bottom left

ue- karo




re all diff

e pe
tare ifferent- z
: A d

m the

redni casti tl

top
j tl

s

ml r
i po , kaz

ZGA18013

Hexagonal telescopic rod
(4pcs)

ZGA18014

ﬁ o

Differential speed gear+
telescopic rod (2pcs)

 ZGA18015

Servo steering rod

ZGA18016

HB-Z1 Silver grey
finished wheel {one left
and one right) (2pcs)

ZGA18017

HB-ZG 1802 Blue finished
wheel (one left and one
right) (2pcs)

lescopi

ial spe

w

'9
es

rvo tyce fiz

’
-




HB-Z(G1803 Car Shell
| (silver grey)

HB-ZG1804 Car Shell
(Green)

ZGB18003

Black Car Frame

ZGB18004

Tires (2pcs

ZGB18005

HB-ZG1803 Whaeel kit
companants (silver) (two
whoals)

Lod ’
o

ZGB18006

e
HB-ZG 1804 Wheel kit

components (green) (two
wheels)

ZGB18007

Front wheel suspension arm

(The top left front, bottom left
front, top right front, bottom

right front are all different )

ZGB18008

Back wheel suspension arm
{The top left back, bottom left
back, top right back, bottom
right back are all different )

ZGB18009

Shock absorber
suspansion (4pes)

.

ished wheel

o AY

ZGB18010

Rear wing + rear wing
accessories

ZGB18011

oy

Hexagonal telescopic rod

(4pcs)

ZGB18012

Differential speed gear+
telescopic rod (2pcs)

ZGB18013

Front protective frame + rear
protective frame+ Servo
y steering rod + car shell pillar

ZGB18014

HB-Z(G1803 Silver finished
wheel {one left and one
right ) (2pes)

ZGB18015

HB-ZG1804 Green finished
wheel (one left and one

19
rcvelkos

6

right) (2pcs)




S i
e p1°

\A4

8

@

hér susp
ear

one left

oy
\3&&6 "




it




aovednost v ori
Bbravné mani
ouzitibaterj st k pozaru
a

proudem,

m@ m, mackanim,

eotevj nerozrezavej

i’'s posSkozeny Qekouci




erii — nesmi

50%. Nes

23
rcvelkos

b




baterie na Balancer

co nejdUkl

erie, a zda nezahriva pri

6
e &




' o, A S
jte se ho, a
jte z bezpec
du, doporug C ¢

ADijentr i
zeny. Ni




| i rc-mo azi jiny rc- mou
| me zme nébo ta
oSlo k ruseni 1 ‘

ohou

01le fed m e ez dozor
w M
| 6 lizkosti rc
ovou frekvenci,
ovladani rc-mo e
tho;'rafle, slafaflk:':lcE a };0&5 wobku se m
lisit dle modelu a vybavy'vyy '




	RC OFFROAD 4WD BIG SHARK 2,4 Ghz ID: 23142092
	
	Seznámení s dálkovým ovládáním
	
	Power ON/OFF- zapnutí a vypnutí
	Throttle trimm- citlivé nastavení ovládání pohybu vpřed a vzad
	Steering trimm-citlivé nastavení pohybu doleva a doprava
	Steering wheel- ovládací kolečko pro směrový pohyb vlevo a vpravo
	Steering reserve switch- přepnutí na reverzní ovládání
	Trigger- spoušť pro pohyb vpřed, vzad a brždění
	Right- pohyb doprava, otočením kolečka směrem doprava
	Left- pohyb doleva, otočením kolečka směrem doleva
	Forward- pohyb vpřed stisknutím spouště
	Backward- pohyb vzad, odtlačením spouště
	
	Rc-model je ovládán dálkovým ovládáním s frekvencí 2,4 GHz. Je nutné se důkladně seznámit s jednotlivými funkcemi.

